
    Resp Ratio = 7.20e-001 * Amt + 1.07e-003
Coef of Det (r^2) = 1.000   Curve Fit: Linear

Method Name:  Z:\VOASRV\HPCHEM1\MSVOA_U\METHOD\82U112818W.M
Calibration Table Last Updated: Thu Nov 29 14:38:22 2018
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    Resp Ratio = 4.46e+000 * Amt - 2.53e-001
Coef of Det (r^2) = 0.997   Curve Fit: Linear

Method Name:  Z:\VOASRV\HPCHEM1\MSVOA_U\METHOD\82U112818W.M
Calibration Table Last Updated: Thu Nov 29 14:38:22 2018
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    Resp Ratio = 1.38e+000 * Amt + 1.07e-002
Coef of Det (r^2) = 1.000   Curve Fit: Linear

Method Name:  Z:\VOASRV\HPCHEM1\MSVOA_U\METHOD\82U112818W.M
Calibration Table Last Updated: Thu Nov 29 14:38:22 2018
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